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1. Classify i.e. choose the best name for each of these special quadrilaterals. [3]

Mathematics

Sections Aand B

Weighting (Sections A and B): 20% )
2. Prove the angle sum of a triangle is 180° i.e. [3]

Reading time (Sections A and B): 5 minutes Show that for any triangle ABC, ZA+ 63 +/£C=180°".

Writing time (Sections A and B): 60 minutes
Marks (Sections A and B): 50

Topic examined: Geometry

A
Instructions
* Write on this paper
¢ Write using blue or black pen
* Use a pencil for all diagrams
* Calculators are allowed in Sections A and B
* Please show working
* A formulae sheet is not provided
Name: —
Section | Mark | Maximum
A 25
B 25
A+B 50
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The diagram shows a parallelogram ABCD. Note: the opposite sides are parallel.
Prove that:
§ 36 T o  (a) AABD=ACDB Bl
(a) Complete this five line proof to show that APQR is similarto ATSA. [3] l
Line 1 In APQR and ATSR
Line 2 ZPQR = LTSR (// )
M
Line 3 ZQPR=ZSTR { )
. N .\k\_ﬁ_
Line 4 .. ) ( vertically opposite angles )
s .
(b} £BAD=2DCB. [
Line 5 APQR issimilarto ATSR (| ) -
(b) Hence find the value of x. Reason not required. [1]
5.
B
11
(a)  Find x. Reason not requirec@ ]
{b) Find y. Reason not required: ) [1]
o l {c)  Find z. Reason not required. ]
} .
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Find the value of x and y. Give reasons.

Find the value of x and y. Give reasons:

End of Section A
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Section B
Working Mathematically
Total marks (25)
Please attempt all questions on this paper.

REMEMBER TO SHOW WORKING FOR PART MARKS -
The value of each question is indicated by [ ].
Calculators ARE allowed.
8. In the space below, use geometric tools to construct three triangles that have I6]
a side of length 5 cm, a side of length 6 cm and an angle of 30° and yet are different in size
2
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10. Construct a regular hexagon, in the space belew.

10A SCAT 2 —7

r

2011

11.

() Construct the perpendicular bisectors of each of the three sides of triangle ABC.

3]

i.e. construct the perpendicular bisectors of AB, BCand CA . \

o

{b) The perpendicular bisectors you have constructed meet at a point, This point is
the centre of the circle that passes through all three of the vertices of AABC.
Draw this circle on the diagram above.

12. Write Yes (Y) or No (N) In the space provided.

l4]

Parallelogram

Properties : Square | Rectangle | Rhombus
Opposite sides equal In length | ° o T

Diagonals equal in length

Diagonals bisect each other
Diagonals bisect angles
through which they pass
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13.

The diagram above shows a rhombus ABCD with diégonalé ACand BD.
Note: ali sides of a rhombus are equal and opposite sides are parallel, & 'shown.

Prove that the diagonals of the rhombus bisect each other.
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Mathematics

Sections A and B

Weighting (Sections A and B): 20%

Reading time (Sections A and B): 5 minutes
Writing time (Sections A and B): 60 minutes
Marks (Sections A and B): 50

Topic examined: Geometry

Instructions

» Write on this paper

* Write using blue or black pen

* Use a pencil for all diagrams

* Calculators are allowed In Sections A and B
* Please show working

* A formulae sheet is not provided

Section A B
Total marks (25)
Please attempt all questions on this paper.
REMEMBER TO SHOW WORKING FOR PART MARKS
The value of each question is indicated by [ ]
Calculators ARE allowed.

Classify I.e. choose the best name for each of these special quadrilaterals. 3]

gggg;;«? oudns /[ tectomgle/

2. Prove the angle sum of a triangle is 180° i.e. 3]

Show that for any triangle ABC, LA+ £B+ZC =180°.

W AABRC
y ﬁﬁhm%(maDEH/

cun %\NW\&\/\ ?o‘\v\)r C

’ £ LDCA= GLALY
L€ CB= Lo
Z ACB = Z“CCOOP‘\:;
oo LAYIBY Aoy
' g"LfOkA& hot

Y/ 1)

Name: _
Section | Mark | Maximum
A A 25
B 25
A+B 50
10A SCAT 2 1 A 2011

10A SCAT 2 2 2011 /6




36
(a) Complete this five line proof to show that APQR is similar to ATSR. [3]

Line 1 In APQR and ATSR

Line 2 £PQR=LTSR { A\)rwv\(ﬁi ml\\(ﬁ\gg M ?mr)cuue(. (AM /
Line 3 ZQPR=ZSTR (Mencde W,.j \gg amkﬁ%””‘u@{ («t'nej /

Line 4 Z—P Rg;g = LTRS ( vertically opposite angles ) /

Lines APQR issimilarto ATSR | @(LL/\LL C&A«atvl“/")

(b) Hence find the value of x. Reason not required. [1]

%ézﬁf
[C2
u. /
-9
it
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D 77 C

The diagram shows a parallelogram ABCD. Note: the opposite sides are parallel.

Prove that:

(a) AABD=ACDB 3] ‘

I A/\BD cunch ACDB;

VB e comupn ///

/L ADB = [ CRBD Colfernafe UMj[QS owL(/l )Oa/va[/&(
LABD= LeDp, () o

oo AMBD = A\ (DB(AAS)

{b) £BAD=/DCB. [1] f
H@V\CQ LBADZLDCB (W‘M{'Ctv(o\j /a/m‘?(es of ;
| GG Hdong /63)
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6. ' Section B ro
Working Mathematically
Total marks (25) .
Please attempt all questions on this paper. ’
REMEMBER TO SHOW WORKING FOR PART MARKS [
The value of each question is indicated by [ |.
/. >< ’ Calculators ARE allowed.
8. In the space below, use geometric tools to construct three triangles that have [6]
Find the value of x and y. Give reasons. [4] a side of length 5 cm, a side of length 6 cm and an angle of 30" and yet are different in size.
b ’ |
. . [
Ccm% wck [M\a/ AD iy LAOB:CJé
—-— ; Lo g /,7A o
AD= %OCY%MH) CW«/@ -
5 *
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L ARD=L DAR=(? (qu ‘ % m
v % (02 o -’//OO
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End of Section A —.
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10. Construct a regular hexagon, in the space beliyw. [2]
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11.
(a) Construct the perpendicular bisectors of each of the three sides of triangle ABC. [3]
i.e. construct the perpendicular bisectors of AB, BCand CA.

(b) The perpendicular bisectors you have constructed meet at a point. This point is
the centre of the circle that passes through all three of the vertices of AABC.

Draw this circle on the diagram above. [1]

12. Write Yes (Y} or No (N) in the space provided. [4]
Properties Square | Rectangle | Rhombus | Parallelogram
Opposite sides equal in length v v @ \/ \4
Diagonals equal in length N N N&j v Y
Diagonals bisect each other Y 1 Y. h
Diagonals bisect angles P I%f m
through which they pass )l sl Y y
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13.

D C LA
b A WM:p=0 o ((
The diagram above shows a rhombus ABCD with diagonals AC and BD.

r=pc
Note: all sides of a rhombus are equal and opposite sides are parallel, 85 shown.

Prove that the diagonals of the rhombus bisect each other

w AA0R oand_ NCOD
LAOR = [ COD (vt orr)
ZOAB LO(D[M}(@V\A@&L Wngles  und

[5] frean,

AAB = Ay (AA%} ff,/
@, Sinail oor jAAOD ACOR

-» /Q@@@ V(= CBC
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